[ number of missing inner layers |

[ number of missing outer layers |

1g —| Entries 558008 1g - —| Entries 558008
E + | Mean 0.003896 . + | Mean 1.686
r N Std Dev 0.06497 N : Std Dev 2.372
-1 e — = - I | e PR e = I
10°E " Entries 551954 10°E : " Entries 551954
F : Mean 0.009082 F : : Mean 1.56
N N Std Dev 0.1012 - N . Std Dev 2.316
. bt ) I S beeeeeens S
10 E . 10 E . + | Entries 553136
E : E . : Mean 1.561
3 I . 3 r . N Std Dev 2.318
1070 : e [ ST R P UEEIEEEIEE 1
o : Entries 510398 o : : Entries 510398
r . Mean 0.007898 r . . Mean 1.612
_4 N Std Dev 0.09353 _4 N N Std Dev 2.364
107°F T p | 107 e ey O i
F + | Entries 550631 F : + | Entries 550631
L . Mean 0.009115 L . . Mean 1.561
107°F «v..i.{ Std Dev 0.1015 100 SEERETETE-FPERP Lo.omo |swey 2.318
.910—6:...!..”!”. 0101.64:""|"' | II
= r = E . .
© F @ 1.05f - -|- o L [EEEEET T
xr 3 o Fo + !
Tz a—— ECit I ] A SRR R
E P : :
095_—_._+++ B A bbb
o E iy . .
0.gF St ! : :
5 10 15 20 25
mean hi
= 40 E Entries 558008
o o Mean 14.46
g 35: - Std Dev 5.865
5 10*F e
) C : : : : : E Entries 551954
=0 SR U S SR S SR : 181
\ C : : . . . o
C 3L
10°E
F std Dev
102 = ] thcL 510398
E Mean 14.52
o Std De 5.813
r : : I
| Entries 550631
10 E Mean 14.62
F Std Dev
1=
o o tF
3 Dol E : E s £
04 L Sttt W o 04 E
g, g e TS EE S VRN 0.9F
PRk : : : Tt
. . . 0.8
0.95 : : : 07
=3 -2 -1 0 1 2 3

N -

Entries 133002
Mean 2.164
Std Dev 6.079
: |
Entries 133002
Mean 2.164
Std Dev 6.079
: |
Entries 133002
Wﬁn 2.164
StegDev 6.079
L

Entri

r 133002
Mean 2.164
Std Dev 6.079

Entries 133002
Mean 2.164
Std Dev 6.079
T

track hits

- Entries 580641
: Mean 1114
. : Std Dev. 3.043
107 o TEEEE poeeee A 1
: : Entries 573290
: : Mean 1.117
1072 ok L Std Dev 2.54?
: : Entries 574530
B Mean 1.124
TOR RS TETET PR . Std Dev 2341
Entries 529487
N N Mean 1.146
1 N e A $td Dev 2.672
10 . . B
: : Entries 571883
Mean 1.125
SR .
10 Std Dev 2 62-7
. -
M -
— L L L ogan L
6 ] ] ]
o 102 R
=1 F PR o .
8 £ s *:-gﬂm : C
el - e T
E - + «+
e L R Feeees gk
of ; ;




	Contents
	Page 1


